APXH Ing ZEAIAAZX

KENTPIKH EIIITPOIIH EEETAXEQN
ETAIKQN MAOHMATQN EAAHNQN EEZQTEPIKOY
TETAPTH 22 XEIITEMBPIOY 2004
KOINH EEETAYXH OAQN TQN YIIOWYH®IQN XTA
AT'TAIKA

A. No amodwoete 010 TETPAOLO OCO0C OTNV EAANVLXY
YADOOO TO TAQAXATW %eEl(uevo, mPpoodidovidc Tov TN LoPPMN
mov Ba €mpeme va €yel, AV €MPOUELTO VO OMUOOLEVOEl o€
eEAAMVIXG €vTumoO:

Monogamy is becoming optional and marriage is
increasingly irrelevant as far as today’s twentysomethings are
concerned.

The Times survey has found that many of those who are
married and those with children do not have much faith in
the institution. A third of 18 to 30- year - olds who are married
and 43 per cent of those who are parents said that they did
not believe that it was realistic to expect a couple to remain
together for life.

Across the social groups, support for monogamy and
marriage was strongest among the professional classes.

Only 36 per cent believed that it was unrealistic to expect
relationships to last forever and just 31 per cent described
marriage as irrelevant.

Nearly a fifth of women said that they expected to be less
involved in raising their children than their mothers were, a
reflection of the greater participation of women in the
workforce and the increasing use of paid childcare.

However, for Lisa Tarling, 29, a secretary from London
who married last year, marriage remains an important way of
demonstrating commitment, stability and security.

The Times, Wednesday September 15th, 2004

(25 points)
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APXH 2ng 2ZEAIAAZ

No amavifoete o0to TETEPAOLO O0C OTA AYYALRA OTIC
TAQUXATW EQWTNOELC:

Give a title to the above article.

(4 points)
Rephrase the following: “Monogamy is becoming optional
and marriage is increasingly irrelevant as far as today’s
twentysomethings are concerned”. (Do not use the same
words from the original).

(5 points)

......... a reflection of the greater participation of women
in the workforce and the increasing use of paid childcare.”
What are the pros and cons of paid childcare? Mention
three altogether. (About 40 words).

(6 points)

It’s a fact that marriage is not as stable today as it used to
be in the past. In a short paragraph mention two reasons,
which may be responsible for that. (About 40 words).

(5 points)
In a short paragraph of about 40 words write about three
qualities you consider important for an ideal partner in
marriage.

(6 points)
Give two reasons to support your opinion on whether you
are for or against the institution of marriage.

(4 points)

Na yodpete neiuevo 180 - 200 A€Eewv ue Bépnas:

You are supposed to take part in a survey of mobile
phones that a magazine is carrying out. Express your
views on the advantages and disadvantages of using them
in everyday life.

(45 points)
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OAHI'IEX

1. Na 0do0ovv amaviioelc oe Ola ta ntquoata. Kabde
ATAVINON TOV UOUAVTTEL EVVOLOAOYLXRA %L YAWOOLXA T
Intiuata eivar amoderTy.

2. Ta Oéuata »naL oL odnyieg OBa avamapaybovv xar Oa
draveunBovv otovg vmoynerove. Aev Oa exgpwvnBovv xat
dev Ba yoa@ovyv oTtoV {ivaxa.

3. Ta Oépata (ayyhind xneluevo - €owTHOELL OTO OYYALRA -
Déua «€xbeonc» ota ayyilrd) dev Ba aviLypa@ovv OTO
TETPAdLO0.

4. Noo un UETAPEOOTEL O TI(TAOC %Ol M MUEQOUNVIO TOV
evTUTOV.

5.01 vmoynoior Oa  emLoTEEYOUVV TIC QOTOTUTIEC TWV
BepdtTwv ®OTA TNV ATOYXWENON TOVS OTOVC EMLTNENTEC, OL
omoioL ®at Ba TIC ®aTAOTEEYOVV.

6. AvtGorero eE€taonc: Toewg (3) dosc.

‘Evap&n yoovov eEétaons Auéomg uetd tn OLavoun Twv
PWTOTVTLOV CTOVS VITOYPNPLOVC.

Avvatdtnta amoydonone: Mio (1) doa uetd tnv €vopEen
TOoV X0O0Vvov eE€taonc.

7. H didoxera eE€taong »oL 0 x0O0VOS OUVATHS ATOXWOENONS VO
YOO @OoUV OTOV TivVara.

KAAH EIIITYXIA

TEAOY MHNYMATOX
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